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1 i) b A i) T 22 X 8.50 2. 50 0. 00 0. 50 100.0 0.0 0.0 100.0 100. 0|7 2 7 7 )L ik
0.0 0~ 0.1 0 8. 00 2. 50 0. 50
18 i) b A i) T 22 X 8.50 2. 50 2. 00 0. 50 -16.5 0.0 68.5 52.0 152. 0|7 A 7 7 )L ik
0.1 0~ 0.1 52 8. 00 2. 50 0. 50
1 i) b A i) T 22 X 7.00 3.30 3.00 0. 50 52.0 0.0 0.0 52.0 204. 0|7 & 7 7 )b it
0.1 52 ~ 0.2 5 5. 00 3.00 0. 50
18 i) B A i) T 22 X 7.00 2. 50 0. 00 0. 50 96. 0 0.0 0.0 96. 0 300. 0|7 & 7 7 /b it
0.2 5 ~ 0.3 0 8. 00 2. 50 0. 40
5 [t VR A T 22 (X 7.00 2. 50 0. 00 0. 50 100.0 0.0 0.0 100.0 400. O|BEAK M Atk
0.3 0 ~ 0.4 0 8. 00 2. 50 0. 50
15 ] VR4 e T 22 (X 7.00 2. 50 0. 00 0. 50 95.0 0.0 0.0 95.0 495, O|BEAK M Atk
0.4 0 ~ 0.5 0 8. 00 2. 50 0. 50
15 [t VR e T 22 (X 7.00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100.0 595. O|BEAK M Atk
0.5 0 ~ 0.6 0 7.00 2. 50 0. 50
5 ) VLA T T P 2 X 7.00 2. 50 0. 00 0. 50 104.0 0.0 0.0 104.0 699. 0| HEA MGl dd
0.6 0 ~ 0.7 0 7.00 3.50 0. 50
5 e VLA T T P 2 X 7.00 2. 50 0. 00 0. 50 78.0 0.0 0.0 78.0 T77. O|HEAK MGl 2
0.7 0 ~ 0.8 0 7.00 3.50 0. 50
5 e VLA e T e 2 X 7.00 3.00 0. 00 0. 50 118.0 0.0 0.0 118.0 895. O|HEA MGl dk
0.8 0 ~ 0.9 0 7.00 3.50 0. 50
1 ] VLA e T P 22 X 7.00 4. 00 0. 00 0. 50 100.0 0.0 0.0 100.0 995. O|HEA MGl 2&
0.9 0 ~ 1.0 0 7.00 4. 00 0. 50
5 ) VLA e T P 22 X 6. 00 4. 00 0. 00 0. 50 28.0 0.0 0.0 28.0 1, 023. O|HErk M-k
1.0 0 ~ 1.0 28 6. 00 5. 00 0. 50
5 ] VLA T T P 2 X 6. 00 3.00 0. 00 0. 50 -0.1 0.0 35.1 35.0 1,058.0|7 A 7 7 /L sk
1.0 28 ~ 1.0 63 6. 00 3.00 0. 50
5 e VLA T T P 2 X 6. 00 3.00 0. 00 0. 50 34.0 0.0 0.0 34.0 1, 092. O|HErk Ak
1.0 63 ~ 1.1 0 6. 00 3.00 0. 50
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18 o] LA o] T 22 [ 6. 00 3.50 0. 00 0. 50 105.0 0.0 0.0 105.0 1, 197. O|HEAK PGttt
1.1 0 ~ 1.2 0 6. 00 3.50 0.50
& [ SRR A T % X 6. 00 3.00 0. 00 0. 50 75.0 0.0 0.0 75.0 1, 272. 0| e PGl
1.2 0 ~ 1.2 75 6. 00 3.50 0.50
& [ LR R T % X 6.30 2.40 0. 00 0. 50 -5. 2 0.0 65. 2 60. 0 1,332.0| 7 27 7 v b e
1.2 75 ~ 1.3 33 6. 60 2.20 0.50
8 [ B A [ T v e X 6. 00 3.00 0. 00 0. 50 62. 0 0.0 0.0 62.0 1,394. 0|7 & 7 7 )L sk
1.3 33 ~ 1.4 0 6. 00 3. 00 0. 50
8 [ B A [ Tl v e X 6. 00 3.00 0. 00 0. 50 100.0 0.0 0.0 100. 0 1, 494. O|HEAK PGl
1.4 0 ~ 1.5 0 6. 00 3.00 0. 50
8 o] B A [ T v e X 6. 00 3. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 1, 594. 0| e PGtk
1.5 0 ~ 1.6 0 6. 00 3. 00 0. 50
8 [ B A [ T v e X 6. 00 3. 00 0. 00 0. 50 79.0 0.0 0.0 79.0 1, 673. O|HEA PGkt
1.6 0 ~ 1.6 79 6. 00 3.00 0. 50
8 [ B A [ T e e X 5. 70 1.80 0. 00 0. 50 0.0 0.0 26.0 26.0 1,699. 0|7 2 7 7 /v ik
1.6 79 ~ 1.7 5 6. 00 4. 80 0. 50
8 [ B A [ i e e X 6. 00 3.50 0. 00 0. 50 95.0 0.0 0.0 95.0 1, 794. O[HEA P& %E
1.7 5 ~ 1.8 0 6. 00 3.50 0. 50
8 [ B A [ i e e X 6. 00 3.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 1, 894. O|PEK &2
1.8 0 ~ 1.9 0 6. 00 3.50 0. 50
8 [ B A [ i e e X 6. 00 3.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 1, 994. O|PEAK L&
1.9 0 ~ 2.0 0 6. 00 3.50 0. 50
8 [ B A [ i e e X 6. 00 3.50 0. 00 0. 50 110.0 0.0 0.0 110.0 2, 104. 0| Bk ME&f2E
2.0 0 ~ 2.1 0 6. 00 3.50 0. 50
8 [ B A [ T e e X 6. 00 3.50 0. 00 0. 50 87.0 0.0 0.0 87.0 2, 191. O| Bk ME&f2E
2.1 0 ~ 2.2 0 6. 00 3.50 0. 50
8 [ B A fo] i e e X 6. 00 3.50 0. 00 0. 50 103.0 0.0 0.0 103.0 2, 294. 0| Bk ME&f2E
2.2 0 ~ 2.3 0 6. 00 3.50 0. 50
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8 [ B A [ T v e X 6. 00 3. 00 0. 00 0.50 100.0 0.0 0.0 100. 0 2, 394. 0|k Mg
2.3 0 ~ 2.4 0 6. 00 3.00 0.50

8 [ B A [ T e e X 6. 00 3.50 0. 00 0. 50 105.0 0.0 0.0 105. 0 2, 499. 0|k Mg
2.4 0 ~ 2.5 0 6. 00 3.50 0.50

8 o] B A [ T v e X 6. 00 2. 50 0. 00 0. 50 109.0 0.0 0.0 109. 0 2, 608. 0| HE7k P
2.5 0 ~ 2.6 0 6. 00 2.50 0.50

8 [ B A [ T v e X 6. 00 2.50 0. 00 0. 50 87.0 0.0 0.0 87.0 2, 695. 0| ek Mg
2.6 0 ~ 2.7 0 6. 00 2.50 0. 50

8 [ B A [ Tl v e X 6. 00 2. 50 0. 00 0. 50 102.0 0.0 0.0 102. 0 2, 797. O|HEak P
2.7 0 ~ 2.8 0 6. 00 3.00 0. 50

8 o] B A [ T v e X 6. 00 2.50 0. 00 0. 50 98.0 0.0 0.0 98.0 2, 895. 0| HEsk P
2.8 0 ~ 2.9 0 6. 00 2.50 0. 50

8 [ B A [ T v e X 6. 00 2.50 0. 00 0. 50 102.0 0.0 0.0 102. 0 2, 997. 0|k Mg
2.9 0 ~ 3.0 0 7.50 3.00 0.50

8 [ B A [ T e e X 6. 00 3.00 0. 00 0. 50 105.0 0.0 0.0 105.0 3, 102. 0| Bk AL
3.0 0 ~ 3.1 0 6. 00 2.50 0. 50

8 [ B A [ i e e X 6. 00 3.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 202. 0| HlEsk A2
3.1 0 ~ 3.2 0 6. 00 3.00 0. 50

8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 302. 0| Hlak MEAf2E
3.2 0 ~ 3.3 0 6. 00 2.50 0. 50

8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 97.0 0.0 0.0 97.0 3, 399. 0| Hl/k A2
3.3 0 ~ 3.4 0 6. 00 2.50 0. 50

8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 499. 0| Pk A2
3.4 0 ~ 3.5 0 6. 00 2.50 0. 50

8 [ B A [ T e e X 6. 00 3.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 599. 0| Hl/k A2
3.5 0 ~ 3.6 0 6. 00 3.00 0. 50

8 [ B A fo] i e e X 6. 00 3.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 3, 699. 0| Hl/k A2
3.6 0 ~ 3.7 0 6. 00 3.50 0. 50
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8 [ B A [ T v e X 6. 00 3. 00 0. 00 0.50 100.0 0.0 0.0 100. 0 3, 799. O|HEsk PEA:
3.7 0 ~ 3.8 0 6. 00 3.00 0.50
8 [ B A [ T e e X 6. 00 3.50 0. 00 0. 50 97.0 0.0 0.0 97.0 3, 896. O|HEsk Mg
3.8 0 ~ 3.9 0 6. 00 3. 00 0.50
8 o] B A [ T v e X 6. 00 3. 00 0. 00 0. 50 102.0 0.0 0.0 102. 0 3, 998. O|HEak P
3.9 0 ~ 4.0 0 6. 00 3.00 0.50
8 [ B A [ T v e X 6. 00 2.50 0. 00 0. 50 102.0 0.0 0.0 102. 0 4, 100. O|HEzk Mg
4.0 0 ~ 4.1 0 6. 00 2.50 0. 50
8 [ B A [ Tl v e X 6. 00 2. 50 0. 00 0. 50 100.0 0.0 0.0 100. 0 4, 200. 0|7k Mg
4.1 0 ~ 4.2 0 6. 00 3.00 0. 50
8 o] B A [ T v e X 6. 00 2.50 0. 00 0. 50 104.0 0.0 0.0 104. 0 4, 304. O|HEok P
4.2 0 ~ 4.3 0 6. 00 3. 00 0. 50
8 [ B A [ T v e X 6. 00 2.50 0. 00 0. 50 104.0 0.0 0.0 104. 0 4, 408. O|HE7k P
4.3 0 ~ 4.4 0 6. 00 2.50 0.50
8 [ B A [ T e e X 7. 00 2. 50 0. 00 0. 50 96.0 0.0 0.0 96. 0 4, 504. 0| Bk &2
4.4 0 ~ 4.5 0 7.00 2.50 0. 50
8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 4, 604. 0| Pk M2
4.5 0 ~ 4.6 0 7.50 2.50 0. 50
8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 4, 704. 0| HlEsk &2
4.6 0 ~ 4.7 0 7.50 3.50 0. 50
8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 4, 804. 0| HlE/k &2
4.7 0 ~ 4.8 0 6. 00 2.50 0. 50
8 [ B A [ i e e X 6. 00 2. 50 0. 00 0. 50 54.0 0.0 0.0 54.0 4, 858. 0| HE/k A2
4.8 0 ~ 4.8 54 6. 00 2.50 0. 50
8 [ B A [ T e e X 8. 00 1.80 0. 00 0. 50 0.2 0.0 33.8 34.0 4,892. 0|7 A 7 7 /L MaiLE
4.8 B4~ 4.8 88 8. 00 1. 80 0. 50
et o) YR o] T A X 6. 50 2. 00 0. 00 0. 50 40. 0 0.0 0.0 40. 0 4,932. 0|7 A 7 7 /L ML
4.8 88 ~ 4.9 26 6. 50 3.00 0. 50
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gt ) VR o) T A R X 6. 00 2.30 0. 00 0.50 -0.1 0.0 160. 1 160. 0 5,092. 0| 7 2 7 7 )b | &k
4.9 26 ~ 5.0 88 6. 00 2.30 0. 50
gt o) VR o) T A R X 6. 00 0. 00 0. 00 0. 50 14.0 0.0 0.0 14.0 5,106. 0|7 &2 7 7 /L [k
5.0 88 ~ 5.1 0 6. 00 0. 00 0.50
gt o) VR o] T A R X 6. 00 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,206. 0|7 2 7 7 /L ALk
5.1 0 ~ 5.2 0 6. 00 2.50 0.50
gt ) VR o] T A R X 6. 00 2.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 5,306. 0|7 A 7 7 /L Lk
5.2 0 ~ 5.3 0 6. 00 2.50 0. 50
et o) VR o) T A R X 6. 00 2. 50 0. 00 0. 50 107.0 0.0 0.0 107.0 5,413. 0|7 2 7 7 /L Lk
5.3 0 ~ 5. 4 0 6. 00 2.50 0. 50
gt o) VR o] T A R X 6. 00 2. 00 0. 00 0. 50 98.0 0.0 0.0 98.0 5,511. 0|7 A 7 7 /L Lk
5. 4 0 ~ 5.5 0 6. 00 3. 00 0. 50
et o) VR o] T A R X 6. 00 2.50 0. 00 0. 50 97.0 0.0 0.0 97.0 5,608. 0|7 A 7 7 /L L
5.5 0 ~ 5.6 0 6. 00 2.50 0.50
et o) YR o] T A X 6. 00 2.00 0. 00 0. 50 101.0 0.0 0.0 101.0 5, 709. 0| HlE/k &2
5.6 0 ~ 5.7 0 6. 00 2. 00 0. 50
et o) YR o] T A X 6. 50 2. 50 0. 00 0. 50 92.0 0.0 0.0 92.0 5, 801. O|HlE/k &2
5.7 0 ~ 5.8 0 6. 50 2. 00 0. 50
et o) YR o] T A X 7. 00 3.50 0. 00 0. 50 112.0 0.0 0.0 112.0 5, 913. 0| Bk ME&f2E
5.8 0 ~ 5.9 0 6. 00 2. 00 0. 50
et o) YR o] T A X 7. 00 3.50 0. 00 0. 50 97.0 0.0 0.0 97.0 6, 010. 0| Hl/k &2
5.9 0 ~ 6.0 0 6. 00 2. 00 0. 50
et o) YR o T 4 X 6. 50 3.50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 6, 110. 0| Bk A2
6.0 0 ~ 6.1 0 6. 00 2. 00 0. 50
et o) YR o] T 4 X 6. 00 3.50 0. 00 0. 50 60. 0 0.0 0.0 60. 0 6, 170. O| Bk &2
6.1 0 ~ 6.1 60 6. 00 2. 00 0. 50
et o) YR o] T A X 6. 40 3.30 0. 00 0. 50 -0.3 0.0 13.3 13.0 6, 183. 0|7 A 7 7 /L L
6.1 60 ~ 6.1 73 6. 60 3. 40 0. 50
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gt ) VR o) T A R X 6. 00 2.50 0. 00 0.50 27.0 0.0 0.0 27.0 6, 210. O|HEzk Mg
6.1 73 ~ 6.2 0 6. 00 2.50 0.50

gt o) VR o) T A R X 6. 50 2. 00 0. 00 0. 50 102.0 0.0 0.0 102. 0 6, 312. OBk PEAA:
6.2 0 ~ 6.3 0 6. 50 2.00 0.50

gt o) VR o] T A R X 6. 50 2. 00 0. 00 0. 50 108.0 0.0 0.0 108. 0 6, 420. 0|7k Mg
6.3 0 ~ 6. 4 0 6. 50 2.00 0.50

gt ) VR o] T A R X 6. 00 2. 00 0. 00 0. 50 100.0 0.0 0.0 100. 0 6, 520. 0|7k Mg
6. 4 0 ~ 6.5 0 6. 00 2.00 0. 50

et o) VR o) T A R X 6. 00 2. 00 0. 00 0. 50 101.0 0.0 0.0 101.0 6, 621. 0|k P
6.5 0 ~ 6.6 0 6. 00 2.00 0. 50

gt o) VR o] T A R X 6. 00 2.50 0. 00 0. 50 35.0 0.0 0.0 35.0 6, 656. 0| HE7K Mg
6.6 0 ~ 6.6 35 6. 00 2.50 0. 50

8 o] B A o] T R R X 6. 50 2.50 0. 00 0. 50 61.0 0.0 0.0 61.0 6, T17. O|HEsk PEAA:
6.6 35 ~ 6.7 0 6. 50 2.50 0.50

8 [ B A o] T R R I 6. 50 2. 50 0. 00 0. 50 102.0 0.0 0.0 102. 0 6, 819. 0| Pk &2
6.7 0 ~ 6.8 0 6. 50 2.50 0. 50

A [ B A o] T R R I 6. 50 2. 50 0. 00 0. 50 102.0 0.0 0.0 102. 0 6, 921. 0| HlE/k &2
6.8 0 ~ 6.9 0 6. 50 2.50 0. 50

8 [ B A o] T R R X 6. 50 2. 00 0. 00 0. 50 98.0 0.0 0.0 98.0 7,019. O| ek Mg
6.9 0 ~ 7.0 0 6. 50 2. 00 0. 50

A [ B A [ i R R X 6. 50 2. 50 0. 00 0. 50 105.0 0.0 0.0 105.0 7, 124. 0| ek Mg
7.0 0 ~ 7.1 0 6. 50 2.50 0. 50

8 [ B A fod T R R X 6. 50 2. 50 0. 00 0. 50 104. 0 0.0 0.0 104. 0 7, 228. 0| Pe/k Mg
7.1 0 ~ 7.2 0 6. 50 2.50 0. 50

A [ B A o] T R R I 6. 50 3.00 0. 00 0. 50 97.0 0.0 0.0 97.0 7, 325. 0| ek Mg
7.2 0 ~ 7.3 0 6. 50 2.50 0. 50

8 [ B A [ i R R I 6. 50 3.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 7,425, 0| Pe/k Mg
7.3 0 ~ 7.4 0 6. 50 2.50 0. 50
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8 [ B A o] T R R X 6. 50 2.50 0. 50 0.50 100.0 0.0 0.0 100. 0 7, 525. 0| ek Maids
7.4 0 ~ 7.5 0 6. 50 2.50 0.50

8 o] B A o] T R R X 6. 50 2.50 0. 50 0. 50 100.0 0.0 0.0 100. 0 7, 625. 0| ek Mt
7.5 0 ~ 7.6 0 6. 50 2.50 0.50

8 [ B A o] T R R X 6. 50 2. 50 0. 50 0. 50 75.0 0.0 0.0 75.0 7, 700. 0| Ak Mt
7.6 0 ~ 7.6 75 6. 50 2.50 0.50

8 o] B A o] T R R X 6. 00 2.30 0. 50 0. 50 -0.9 0.0 14.9 14.0 7, T14. 0| ek Mt
7.6 75 ~ 7.6 89 6. 50 2.30 0.50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 12.0 0.0 0.0 12.0 7, 726. 0| ek Meaids
7.6 89 ~ 7.7 0 6. 50 2.30 0. 50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 100.0 0.0 0.0 100. 0 7, 826. 0| Pk Mt
7.7 0 ~ 7.8 0 6. 50 2.30 0. 50

8 o] B A o] T R R X 6. 50 2.30 0. 00 0. 50 100.0 0.0 0.0 100. 0 7, 926. 0| ek MEaids
7.8 0 ~ 7.9 0 6. 50 2.30 0.50

8 [ B A o] T R R I 6. 50 2.30 0. 00 0. 50 97.0 0.0 0.0 97.0 8, 023. 0| HE/k &2
7.9 0 ~ 8.0 0 6. 50 2.30 0. 50

A [ B A o] T R R I 6. 50 2.30 0. 00 0. 50 100. 0 0.0 0.0 100. 0 8, 123. 0| Hl/k ME&f2E
8.0 0 ~ 8.1 0 6. 50 2.30 0. 50

8 [ B A o] T R R X 6. 50 2.30 0. 00 0. 50 105.0 0.0 0.0 105.0 8, 228. 0| HE/k A2
8.1 0 ~ 8.2 0 6. 50 2.30 0. 50

A [ B A [ i R R X 6. 50 2.30 0. 00 0. 50 100. 0 0.0 0.0 100. 0 8, 328. 0| Hl/k MEAf2E
8.2 0 ~ 8.3 0 6. 50 2.30 0. 50

8 [ B A fod T R R X 6. 50 2.30 0. 00 0. 50 109. 0 0.0 0.0 109. 0 8, 437. 0| Hl/k ME&f2E
8.3 0 ~ 8. 4 9 6. 50 2.30 0. 50

A [ B A o] T R R I 6. 00 2.30 0. 00 0. 50 0.4 0.0 26. 6 27.0 8,464. 0|7 A 7 7 /L %L
8. 4 9 ~ 8.4 36 6. 50 2.30 0. 50

8 [ B A [ i R R I 6. 00 2.30 0. 50 0. 50 63.0 0.0 0.0 63.0 8, 527. 0| Hl/k ME&f2E
8.4 36 ~ 8.5 0 6. 50 2.30 0. 50
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8 [ B A o] T R R X 6. 50 2.30 0. 50 0.50 101.0 0.0 0.0 101.0 8, 628. 0| HEsk MEA:
8.5 0 ~ 8.6 0 6. 50 2.30 0.50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 100.0 0.0 0.0 100. 0 8, 728. O|HEsk Pk
8.6 0 ~ 8.7 0 6. 50 2.30 0.50

8 [ B A o] T R R X 6. 50 2.30 0. 50 0. 50 95.0 0.0 0.0 95.0 8, 823. O|HEsk MEAk:
8.7 0 ~ 8.8 0 6. 50 2.30 0.50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 107.0 0.0 0.0 107.0 8, 930. O|HErk PEA:
8.8 0 ~ 8.9 0 6. 50 2.30 0. 50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 100.0 0.0 0.0 100. 0 9, 030. O|HlEzk PEAA:
8.9 0 ~ 9.0 0 7.00 2.30 0. 50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 99. 0 0.0 0.0 99.0 9, 129. 0|k Mg
9.0 0 ~ 9.1 0 7.00 2.30 0. 50

8 o] B A o] T R R X 6. 50 2.30 0. 50 0. 50 102.0 0.0 0.0 102. 0 9, 231. 0|k PEA A
9.1 0 ~ 9.2 0 7.00 2.30 0.50

8 [ B A o] T R R I 6. 50 2.30 0. 50 0. 50 95.5 0.0 4.5 100. 0 9, 331. 0| HlE/k A2
9.2 0 ~ 9.3 0 7.00 2.30 0. 50

A [ B A o] T R R I 6. 50 2.30 0. 50 0. 50 101.0 0.0 0.0 101. 0 9, 432. 0| HE/k A2
9.3 0 ~ 9. 4 0 7.00 2.30 0. 50

8 [ B A o] T R R X 6. 50 2.30 0. 50 0. 50 48.0 0.0 0.0 48.0 9, 480. 0| HlE/k &2
9. 4 0 ~ 9.4 48 7.00 2.30 0. 50

A [ B A [ i R R X 7.50 2.30 0. 50 0. 50 0.0 0.0 104.0 104. 0 9, 584. 0| HlE/k Az
9.4 48 ~ 9.5 54 7.50 2.30 0. 50

8 [ B A fod T R R X 7. 00 2.30 0. 00 0. 50 15.0 0.0 0.0 15.0 9, 599. 0| HlE/k A2
9.5 54 ~ 9.5 69 7.00 2.30 0. 50

8 [ B A [ T e X 7.00 2.30 0. 50 0. 50 31.0 0.0 0.0 31.0 9, 630. 0| HlE/k A2
9.5 69 ~ 9.6 0 7.00 2.30 0. 50

8 [ B A [ T e X 6. 50 2.30 0. 50 0. 50 102.0 0.0 0.0 102.0 9, 732. 0| Bk ME&#2E
9.6 0 ~ 9.7 0 7.00 2.30 0. 50
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8 o] B A [ T 76 X 6. 50 2.30 0. 50 0.50 100.0 0.0 0.0 100. 0 9, 832. 0| HEzk P
9.7 0~ 9.8 0 7.00 2. 30 0. 50

8 o] B A fod] T 7 X 6. 50 2.30 0. 50 0. 50 104.0 0.0 0.0 104. 0 9, 936. 0|7k Mg
9.8 0~ 10. 4 0 7.00 2. 30 0. 50

8 o] B A [ T 7 X 6. 50 3. 00 1.50 0. 50 76. 2 0.0 3.8 80.0| 10,016.0|7 % 7 7 /L kL
10. 4 0 ~ 10. 4 78 6. 50 3.10 0. 50

8 o] B A [ T 76 X 6. 50 3.10 2. 00 0. 50 117.3 0.0 2.7 120.0| 10, 136.0|7 27 7 /L &k
10. 4 78 ~ 10.5 91 6. 50 3.00 0. 50

8 o] B A [ T 7 X 6. 50 4. 00 1.50 0.50 95. 7 0.0 4.3 100.0|  10,236.0|7 27 7 /L ik
10.5 91 ~ 10.6 82 6. 50 3.00 0. 50

8 o] B A [ T 7 X 6. 50 2.90 2. 00 0.50 100. 0 0.0 0.0 100.0|  10,336.0|7 27 7 /L &k
10.6 82 ~ 10.7 93 6. 50 4. 50 0. 50

8 o] B A [ 7 76 X 6. 50 3. 00 2. 50 0.50 40. 0 0.0 0.0 40.0|  10,376.0|7 % 7 7 /L L
10.7 93 ~ 10.8 33 6. 50 3.00 0. 50

8 [ B A [ T e X 6. 50 3.00 9.00 0. 50 100.0 0.0 0.0 100.0| 10, 476. 0|7 A7 7 /b &k
10.8 33 ~ 10.9 58 6. 50 3.00 0. 50

8 [ B A [ T e X 6. 50 2.00 0. 00 0. 50 95.0 0.0 0.0 95.0[ 10,571. 0|7 A7 7 /v &%k
10.9 58 ~ 11.0 51 6. 50 2. 00 0. 50

8 [ B A [ T e X 6. 50 1. 40 0. 00 0. 50 -13.0 0.0 18.0 5.0| 10,576. 0|7 A7 7 /b &4k
11.0 51 ~ 11.0 56 6. 50 1. 30 1. 00

8 [ B A [ T e X 6. 50 2.50 0. 00 0.25 -5.0 0.0 18.0 13.0|  10,589. 0|7 A7 7 /b h&fkE
11.0 56 ~ 11.0 69 6. 50 2. 50 0. 50

A [ B A [ T e X 6. 50 2.00 0. 00 0. 50 85.0 0.0 0.0 85.0 10, 674. O|HEAK ML
11.0 69 ~ 11.1 57 6. 50 1. 50 0. 50

8 [ B A [ T e X 6. 50 2.30 0. 00 0. 50 100. 0 0.0 0.0 100. 0 10, 774. O HEAK ML 2L
11.1 57 ~ 11.2 50 6. 50 2.25 0. 50

8 [ B A [ T e X 6. 50 2. 50 0. 00 0. 50 80.0 0.0 0.0 80.0[ 10, 854. O|HEAK A2
11.2 50 ~ 11.3 33 6. 50 1. 00 2. 50
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8 o] B A [ T 76 X 6. 50 2. 50 0. 00 0.25 0.0 0.0 40.0 40.0| 10, 894. 0| Pk M:aids
11.3 33 ~ 11.3 73 6. 50 2.50 1.00

8 o] B A fod] T 7 X 6. 50 2.50 0. 00 0. 50 80. 0 0.0 0.0 80.0| 10, 974. 0| Pk M
11.3 73 ~ 11.4 56 6. 50 1. 00 2.50

8 o] B A [ T 7 X 6. 50 2.50 0. 00 0. 50 17.0 0.0 88.0 105.0| 11, 079. O|HEKPEAfA:
11.4 56 ~ 11.5 60 6. 50 1.00 0. 50

8 o] B A [ T 76 X 6. 50 2.50 0. 00 0. 50 -11.8 0.0 99.8 88.0| 11, 167. 0| Pk M
11.5 60 ~ 11.6 44 6. 50 2.50 0. 50

8 o] B A [ T 7 X 6. 50 2.50 0. 00 0.50 109.0 0.0 0.0 109.0| 11, 276. O|HEK Mg
11.6 44 ~ 11.7 58 6. 50 2.50 0. 50

8 o] B A [ T 7 X 6. 50 2.50 0. 00 0.50 80. 0 0.0 0.0 80.0| 11, 356. 0| Pk At
11.7 58 ~ 11.8 38 6. 50 2.50 0. 50

8 o] B A [ 7 76 X 6. 50 1.25 0. 00 0.50 133.0 0.0 0.0 133.0| 11, 489. O|HEsK Mg
11.8 38 ~ 11.9 70 6. 50 2.50 0. 50

8 [ B A [ T e X 6. 50 2. 50 0. 00 0. 50 10.0 0.0 0.0 10.0| 11, 499. O|BEAK M Aidk
11.9 70 ~ 11.9 80 3.25 0. 00 0.75

8 [ B A [ T e X 3.25 2.30 0. 00 0. 50 77.0 0.0 0.0 77.0| 11, 576. 0| BEAC: A%
11.9 80 ~ 12.0 52 3.25 0. 00 0.75

8 [ B A [ T e X 3.25 3.20 0. 00 0. 50 145.0 0.0 0.0 145. 0 11, 721. O|HEAK LS 2L
12.0 52 ~ 12.1 100 3.25 0. 00 0.70

8 [ B A [ T e X 3.25 2.20 0. 00 0. 50 100. 0 0.0 0.0 100. 0 11, 821. O|HEAK LA 2E
12.1 100 ~ 12.2 99 3.25 0. 00 0.75

A [ B A [ T e X 3.25 2.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 11, 921. O|HEAKMEA 2L
12.2 99 ~ 12.3 100 3.25 0. 00 1.75

8 [ B A [ T e X 3.25 2.20 0. 00 0. 50 100. 0 0.0 0.0 100. 0 12, 021. O[HEAKMES 2L
12.3 100 ~ 12.4 100 3.25 0. 00 0.75

8 [ B A [ T e X 3.25 2.25 0. 00 0. 50 100. 0 0.0 0.0 100. 0 12, 121. O|HEAK ML
12.4 100 ~ 12.5 99 3.25 0. 00 0.50
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8 o] B A [ T 76 X 3.25 2. 50 0. 00 0.50 100.0 0.0 0.0 100.0| 12, 221. O|HEsK Mg
12.5 99 ~ 12.6 99 3.25 0. 00 0. 50
8 o] B A fod] T 7 X 3.25 2.50 0. 00 0. 50 100.0 0.0 0.0 100.0| 12, 321. O|HEsk Mg
12.6 99 ~ 12.8 0 3.25 0. 00 0.75
8 o] B A [ T 7 X 3.25 5. 00 0. 00 1.50 70.0 0.0 0.0 70.0| 12, 391. 0| Pk Mt
12.8 0 ~ 12.8 70 6. 50 5. 00 1. 50
8 o] B A [ T 76 X 3.25 5. 00 0. 00 1.50 130.0 0.0 0.0 130.0| 12, 521. O|HEsk Mg
12.8 70 ~ 13.0 0 6. 50 5. 00 1. 50
8 o] B A [ T 7 X 3.25 5. 00 0. 00 1.50 100.0 0.0 0.0 100.0| 12, 621. O|HEsK PEAdA:
13.0 0~ 13.1 0 6. 50 5. 00 1. 50
8 o] B A [ T 7 X 3.25 5. 00 0. 00 1.50 100.0 0.0 0.0 100.0| 12, 721. O|HEsK Mg
13.1 0 ~ 13.2 0 6. 50 5. 00 1. 50
8 o] B A [ 7 76 X 3.25 5. 00 0. 00 1.50 50. 0 0.0 0.0 50.0| 12, T71. 0| Pk Midid
13.2 0 ~ 13.2 50 6. 50 5. 00 1. 50
8 [ B A [ T e X 3.50 2.25 0. 00 1. 50 59.0 0.0 65.0 124.0| 12, 895. O|HE/k PEAfH%E
13.2 50 ~ 13.3 74 6. 50 3.50 1. 50
8 [ B A [ T e X 3.25 5. 00 0. 00 1.50 126.0 0.0 0.0 126.0( 13,021. 0|7 A7 7 /b b &k
13.3 74 ~ 13.5 0 6. 50 4. 00 1. 50
8 [ B A [ T e X 3.25 5. 00 0. 00 1.50 100.0 0.0 0.0 100.0[ 13, 121. 0|7 =2 7 7 /v &k
13.5 0 ~ 13.6 0 6. 50 4. 00 1. 50
8 [ B A [ T e X 3.25 5. 00 0. 00 1.50 100.0 0.0 0.0 100.0[  13,221. 0|7 2 7 7 /v &k
13.6 0 ~ 13.7 0 6. 50 5. 00 1. 50
A [ B A [ T e X 3.25 5. 00 0. 00 1.50 100.0 0.0 0.0 100.0[  13,321. 0|7 2 7 7 /v &k
13.7 0 ~ 13.8 0 6. 50 5. 00 1. 50
8 [ B A [ T e X 3.25 5. 00 0. 00 1.50 75.0 0.0 0.0 75.0 13,396.0|7 A7 7 /L Mgk
13.8 0 ~ 13.8 75 6. 50 5. 00 1. 50
8 [ B A [ T e X 3.50 2.35 0. 00 1.50 30. 1 0.0 26.9 57.0( 13,453.0(7 A7 7 /v b &%k
13.8 75 ~ 13.9 32 6. 50 3.50 1. 50

_11_



. % i R W O# ot

%R

BE#RA 0 0202 BliE

g = HE £
X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | OPER B | E K| rexn & TERR AR
m

8 o] B A [ T 76 X 3.25 3. 00 0. 00 1.50 68. 0 0.0 0. 68. 13, 521. O|HEK P
13.9 32 ~ 14. 0 6. 50 3.50 1.75

8 o] B A fod] T 7 X 3.25 3. 00 0. 00 1.50 100.0 0.0 0. 100. 13, 621. O|HEK P
14.0 0 ~ 14. 0 6. 50 3.00 0. 50

8 o] B A [ T 7 X 3.25 2.50 0. 00 1.50 79.8 0.0 20. 100. 13, 721. O|HEK P
14.1 0 ~ 14. 0 6. 50 3.50 0. 50

8 o] B A [ T 76 X 3.25 2.50 0. 00 1.50 81.8 0.0 27. 109. 13, 830. 7|HEK P
14. 2 0 ~ 14. 100 6. 50 5. 00 0. 50

8 o] B A [ T 7 X 3.25 0. 00 0. 00 1.50 70.0 0.0 0. 70. 13, 900. 7|HEK P
14.2 100 ~ 14. 70 6. 50 8. 00 1. 50

8 ] VRAR [ 77 1 X 3.25 0.00 0. 00 1. 50 50. 0 0.0 0. 50. 13, 950. 7 [BEAKVESH%E PREEAT S X
14.3 70 ~ 14. 20 6. 50 8. 00 1. 50 1A

8 ] VRAR [ 77 7 X 3.50 2.30 0. 00 4.00 11.6 0.0 21. 33. 13, 983. 7 [HEAKMESH%E PREEAT S X
14.4 20 ~ 14. 53 6. 50 3.50 1. 50 1A

8 [ B A [ T e X 3.25 0. 00 0. 00 1.50 25.7 0.0 21. 47. 14, 030. 7| BEA A4k PR PRIEATE B X ]
14.4 53 ~ 14. 0 6. 50 3.50 1. 50 1A

8 [ B A [ T e X 3.25 0. 00 0. 00 1.50 100. 0 0.0 0. 100. 14, 130. 7| BEA A d P PRIEATE B X ]
14.5 0 ~ 14. 0 6. 50 8. 00 1. 50 1A

8 [ B A [ T e X 3.25 5. 00 0. 00 1.50 100. 0 0.0 0. 100. 14, 230. 7| HE/K P& %E P FRIEATE B X ]
14. 6 0 ~ 14. 0 6. 50 8. 00 1. 50 1A

8 [ B A o] T e X 3.25 5. 00 0. 00 1.50 100. 0 0.0 0. 100. 14, 330. 7| ek A %E P FRIEATE B X ]
14.7 0 ~ 14. 0 6. 50 8. 00 1. 50 1A

8 [ B A [ T e X 3.25 4. 00 0. 00 1.50 100. 0 0.0 0. 100. 14, 430. 7| HE/k PEAH%E P FRIE AT B X ]
14. 8 0 ~ 14. 0 6. 50 4. 00 1. 50 1A

8 [ B A [ T e X 3.25 3.50 0. 00 1.50] -149.8 0.0 249. 100. 14, 530. 7| HE/k PEAH%E PR RIEATE B X ]
14.9 0 ~ 15. 0 6. 50 3.50 1. 50 1A

8 [ B A [ T e X 3.25 3.50 0. 00 1.50 100. 0 0.0 0. 100. 14, 630. 7| HE/K PEAH%E P PRIE AT B X ]
15.0 0 ~ 15. 0 6. 50 3.00 1. 50 1A

_12_
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8 ] YRAR [ 77 7 X 3.25 3.50 0. 00 1.50 30.0 0.0 0. 30. 14, 660. 7|HEK ML PREEAT S X
15. 1 0 ~ 15. 30 6. 50 3. 00 1. 50 1A

g8 ] VRAR [ 77 7 X 3.25 2.00 0. 00 0.75 100. 0 0.0 0. 100. 14, 760. 7| PEK P &% PR AEATE B X ]
14.3 0 ~ 14. 0 3.25 2.00 1. 50 1B

8 ] VRAR [ 77 17 X 3.25 4.50 0. 00 1.25 78.6 0.0 21. 100. 14, 860. 7|HE/K PE&%: RS B X ]
14. 4 0 ~ 14. 0 3.25 3.50 1. 50 1B

8 ] VRAR [ 77 7 X 3.25 4.50 0. 00 1.50 100. 0 0.0 0. 100. 14, 960. 7|HE/K P& PR AT B X ]
14.5 0 ~ 14. 0 3.25 3.50 1.50 1B

8 ] VRAR [ 77 1 X 3.25 4.50 0. 00 1.50 100. 0 0.0 0. 100. 15, 060. 7|HE/K P PR B X ]
14. 6 0 ~ 14. 0 3.25 3.50 1. 50 1B

8 ] YRAR [ 77 7 X 3.25 4.50 0. 00 1.50 100. 0 0.0 0. 100. 15, 160. 7| ek P PR AT B X ]
14.7 0 ~ 14. 0 3.25 3.50 1. 50 1B

8 ] VRAR [ 77 1 X 3.25 4.50 0. 00 1.50 100. 0 0.0 0. 100. 15, 260. 7| e P& PREEAT S X
14. 8 0 ~ 14. 0 3.25 3.50 1. 50 1B

A5 6] B o] T 8 X 3.25 4. 50 0. 00 1.50] -149.8 0.0 249. 100. 15, 360. 7| BEA A gk PR B X[
14.9 0 ~ 15. 0 3.25 3.50 1. 50 1B

A5 of) HRA o] T 8 X 3.25 4. 50 0. 00 1.50 100. 0 0.0 0. 100. 15, 460. 7| BEA At PR B X[
15.0 0 ~ 15. 0 3.25 3.50 1. 50 1B

A5 of) JRA o] T VG X 3.25 4. 50 0. 00 1.50 100. 0 0.0 0. 100. 15, 560. 7| HE/K PEAH%E PR FAR X[
15.1 0 ~ 15. 0 3.25 5. 00 1. 50 1B

A [ B A [ T e X 3.25 4. 50 0. 00 1. 50 94.9 0.0 5. 100. 15, 660. 7| HE/K PEAH%E
15. 2 0 ~ 15. 0 3.25 3. 50 1.50

8 [ B A [ T e X 3.25 3.50 0. 00 0. 50 100. 0 0.0 0. 100. 15, 760. 7| HE/K PEAH%E
15.3 0 ~ 15. 0 3.25 3. 50 0.50

8 [ B A [ T e X 3.25 1.50 0. 00 0. 50 200.0 0.0 0. 200. 15, 960. 7| HE/K P& %E
15. 4 0 ~ 15. 91 3.25 2.10 1. 00

8 [ B A [ T e X 3.25 0. 00 0. 00 1.25 100. 0 0.0 0. 100. 16, 060. 7| HE/K P& %E
15.5 91 ~ 15. 93 3.25 0. 00 2. 00
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8 o] B A [ T 76 X 3.25 0. 00 0. 00 1.00 97.8 0.0 2.2 100.0| 16, 160. 7|HEK Mg
15.6 93 ~ 15.7 96 3.25 0. 00 1. 40

8 o] B A fod] T 7 X 3.25 0. 00 0. 00 1.00 97.7 0.0 2.3 100.0| 16, 260. 7|HEKPEAdA:
15.7 96 ~ 15.8 100 3.25 0. 00 0.85

8 o] B A [ T 7 X 3.25 0. 00 0. 00 1.35 97.9 0.0 2.1 100.0| 16, 360. 7|HEK PEAd:
15.8 100 ~ 15.9 88 3.25 0. 00 1. 50

8 o] B A [ T 76 X 3.25 2.15 0. 00 0.25 80. 0 0.0 0.0 80.0| 16, 440. 7| Pk M:Aids
15.9 88 ~ 16.0 66 3.25 2. 00 0.25

8 o] B A [ T 7 X 3.25 2.15 0. 00 0.25 25.0 0.0 0.0 25.0| 16, 465. 7| ek Mafids
16.0 66 ~ 16. 1 2 3.25 2. 00 0.25

8 o] B A [ T 7 X 3.25 1.50 0. 00 0.50 -0.3 0.0 32.3 32.0| 16, 497. 7| HEAk MAfidE
16. 1 2 ~ 16. 1 34 3.25 2.10 1. 00

8 o] B A [ 7 76 X 3.25 1.90 0. 00 0.50 64.0 0.0 0.0 64.0| 16, 561. 7| ek MAfds
16. 1 34 ~ 16. 1 95 3.25 1. 20 0.55

8 [ B A [ T e X 3.25 1. 50 0. 00 0. 50 100. 0 0.0 0.0 100.0| 16, 661. 7|HEKPEAH%E
16. 1 95 ~ 16.3 3 3.25 1. 80 0. 50

8 [ B A [ T e X 3.25 2. 50 0. 00 0.70 100. 0 0.0 0.0 100.0| 16, 761. 7|HEKPEAH%E
16.3 3 ~ 16.3 103 3.25 2.30 0.70

8 [ B A [ T e X 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 16, 861. 7|HEAKMEA2E
16.3 103 ~ 16.4 95 3.25 2.50 0. 50

8 [ B A [ T e X 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 16, 961. 7|HEAK LA
16.4 95 ~ 16.4 195 3.25 2.20 0. 50

A [ B A [ T e X 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 17, 061. 7[HEAKMER2E
16.4 195 ~ 16.4 295 3.25 2.50 0. 50

8 [ B A [ T e X 3.25 2. 00 0. 00 1. 80 80.0 0.0 0.0 80.0[ 17, 141. 7|HEAKMEA 2
16.4 295 ~ 16.7 69 3.25 2. 00 0. 50

8 [ B A [ T e X 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 17, 241. 7[HEAK LA 2E
16.7 69 ~ 16.8 78 3.25 1. 50 0.50
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8 o] B A [ T 76 X 3.25 2. 00 0. 00 0.50 120.0 0.0 0.0 120.0| 17, 361. 7|HEK PEAdL:
16.8 78 ~ 16.9 78 3.25 2. 00 0. 50

8 o] B A fod] T 7 X 3.25 0. 00 0. 00 2.30 100.0 0.0 0.0 100.0| 17, 461. 7|HEK PEgdA:
16.9 78 ~ 17.0 92 3.25 2.50 0. 50

8 o] B A [ T 7 X 3.25 0. 00 0. 00 1.60 100.0 0.0 0.0 100.0| 17, 561. 7|HEKk PEddL:
17.0 92 ~ 17.1 92 3.25 1.90 0. 50

8 o] B A [ T 76 X 3.25 0. 00 0. 00 1.50 100.0 0.0 0.0 100.0| 17, 661. 7|HEK ML
17.1 92 ~ 17.2 93 3.25 1. 50 0. 50

8 o] B A [ T 7 X 3.25 0. 00 0. 00 1.00 98. 1 0.0 1.9 100.0| 17, 761. 7|HEK PEAd:
17.2 93 ~ 17.3 90 3.25 3.90 0. 50

8 o] B A [ T 7 X 3.25 0. 00 0. 00 1.70 100.0 0.0 0.0 100.0| 17, 861. 7|HEKPEAdA:
17.3 90 ~ 17.3 190 3.25 2.00 0. 50

8 o] B A [ 7 76 X 3.25 0. 00 0. 00 0.95 100.0 0.0 0.0 100.0| 17,961, 7|HEK PEgdL:
17.3 190 ~ 17.5 87 3.25 1. 80 0. 50

8 [ B A [ T e X 3.25 1. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 18, 061. 7|HE/KPEAH%E
17.5 87 ~ 17.6 100 3.25 1.90 0. 50

8 [ B A [ T e X 3.25 2. 00 0. 00 0. 68 79.5 0.0 20.5 100. 0| 18, 161. 7|HEKPHEAH%E
17.6 100 ~ 17.7 90 3.25 1. 30 0. 60

8 [ B A [ T e X 3.25 1. 50 0. 00 2.05 100. 0 0.0 0.0 100. 0 18, 261. 7[HEAKMES2E
17.7 90 ~ 17.8 100 3.25 1.70 0.25

8 [ B A [ T e X 3.25 1. 50 0. 00 1. 60 100. 0 0.0 0.0 100. 0 18, 361. 7[HEAKMEA2E
17.8 100 ~ 17.9 99 3.25 1. 30 0. 60

A [ B A [ T e X 3.25 2.00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 18, 461. 7[HEAKMER2E
17.9 99 ~ 18.0 100 3.25 1. 50 0. 50

8 [ B A [ T e X 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 18, 561. 7[HEAK LA
18.0 100 ~ 18.1 100 3.25 1. 50 0. 50

8 [ B A [ T e X 3.25 2. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 18, 661. 7[HEAKMEA2E
18.1 100 ~ 18.2 95 3.25 1.90 0.50
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8 o] B A [ T 76 X 3.25 2. 00 0. 00 0.50 100.0 0.0 0.0 100.0| 18, 761. 7|HEK PEAdAE
18.2 95 ~ 18.3 84 3.25 1. 50 0. 40

8 o] B A fod] T 7 X 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 18, 861. 7|HEKPEAdA:
18.3 84 ~ 18.4 99 3.25 1. 50 0. 50

8 o] B A [ T 7 X 3.25 2. 00 0. 00 2. 50 100.0 0.0 0.0 100.0| 18, 961. 7|HEK Mg
18.4 99 ~ 18.5 99 3.25 1. 30 0.70

TR RR S T 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 19, 061. 7|HEKPEAdA:
18.5 99 ~ 18.7 4 3.25 2.00 0. 40

TR R R ST 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 19, 161. 7|HEKPEAdA:
18.7 4 ~ 18.7 104 3.25 2.90 0. 50

TR RR S T 3.25 1.50 0. 00 0. 50 100.0 0.0 0.0 100.0| 19, 261. 7|HEKPEAdAE
18.7 104 ~ 18.8 100 3.25 1. 20 0. 50

TR R R S T 3.25 0. 00 0. 00 0.95 97.7 0.0 2.3 100.0| 19, 361. 7|HEK ML
18.8 100 ~ 18.9 100 3.25 1. 00 0.75

& [ B JEs Tl 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100. 0| 19, 461. 7|HEKPEAH%E
18.9 100 ~ 19.1 0 3.25 0. 80 0. 40

& [ B JBs i 3. 17 0. 00 0. 00 1.13 100. 0 0.0 0.0 100. 0| 19, 561. 7|HEKPEAH%E
19.1 0 ~ 19.1 100 3.20 2.42 0. 67

& [ B JBs i 3. 17 2.85 0. 00 0.74 92. 1 0.0 7.9 100. 0 19, 661. 7[HEAKMESE
19.1 100 ~ 19.2 93 3.19 0.99 0.57

& [ B JEs i 3.18 2.217 0. 00 0. 65 100. 0 0.0 0.0 100. 0 19, 761. 7|HEAKMES2E
19.2 93 ~ 19. 4 4 3.19 0.99 0.57

& [ B JBs Tl 3.20 2. 40 0. 00 0. 62 98.0 0.0 2.0 100. 0 19, 861. 7[HEAKMEAE
19. 4 4 ~ 19.5 1 3.20 1. 67 0.58

& [ B JEs Tl 3.19 3.05 0. 00 0.63 100. 0 0.0 0.0 100. 0 19, 961. 7|HEAKMEAE
19.5 1~ 19. 6 3 3.18 3. 46 0.56

& [ B S5 Tl 3.17 4.24 0. 00 0.63 52.0 0.0 0.0 52.0]  20,013.7|7 &2 7 7 /L ML
19. 6 3 ~ 19.6 55 3.20 1.53 0. 62
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BE#RA 0 0202 BliE
g = HE £
X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m
TR R R S T 3.29 2. 00 0. 00 0.67 0.0 0.0 33.0 33.0]  20,046. 7|7 X 7 7 /L L
19.6 55 ~ 19.6 88 3.29 1.51 0.57
TR RR S T 3.25 2.96 0. 00 1.25 115.0 0.0 0.0 115.0| 20, 161. 7|7 27 7 /L ik
19.6 88 ~ 19. 8 6 3.25 2.29 0. 80
TR RSR S T 3.22 0. 00 0. 00 1.80 100.0 0.0 0.0 100.0| 20, 261. 7|HEK ML
19. 8 6 ~ 19.8 106 3.17 1.22 0.74
TR RR S T 3.25 0. 00 0. 00 0.63 94.7 0.0 5.3 100.0| 20, 361. 7|HEK ML
19.8 106 ~ 20.0 8 3.20 1.15 0. 65
TR R R ST 3.25 0. 00 0. 00 1.25 100.0 0.0 0.0 100.0| 20, 461. 7|HEKPEAdA:
20.0 8 ~ 20.0 95 3.25 1. 10 0. 50
TR RR S T 3.25 1.50 0. 00 1.50 80. 0 0.0 0.0 80.0| 20, 541. 7| Pk MAids
20.0 95 ~ 20. 1 72 3.25 1. 60 1. 50
TR R R S T 3.25 1.00 0. 00 0. 50 120.0 0.0 0.0 120.0| 20, 661. 7|HEK ML
20. 1 72 ~ 20.1 192 3.25 1. 60 2. 00
& [ B JEs Tl 3.25 2. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0| 20, 761. 7|HEKPEAH%E
20.1 192 ~ 20.3 84 3.25 1. 20 0. 50
& [ B JBs i 3.25 1. 80 0. 00 0.75 100. 0 0.0 0.0 100.0| 20, 861. 7|HE/KPEAH%E
20.3 84 ~ 20.4 80 3.25 1.70 0. 50
& [ B JBs i 3.25 2. 50 0. 00 0. 50 100. 0 0.0 0.0 100. 0 20, 961. 7[HEAK LA
20.4 80 ~ 20.4 180 3.25 2. 80 0. 50
& [ B JEs i 3.25 2. 50 0. 00 0. 50 36. 7 0.0 2.3 39.0[ 21, 000. 7[HEAKMESE
20.4 180 ~ 20.6 38 3.25 1. 00 1. 50
& [ B JBs Tl 3.25 0. 00 0. 00 0.75 -0.9 0.0 31.9 31.0 21,031 7|7 A7 7 /L ML
20.6 38 ~ 20.6 69 3.25 1.25 1. 00
& [ B JEs Tl 3.25 1.80 0. 00 0.75 130.0 0.0 0.0 130.0|  21,161.7|7 &2 7 7 /L ML
20.6 69 ~ 20.7 96 3.25 1. 50 0. 50
& [ B S5 Tl 3. 14 0.97 0. 00 0. 59 100. 0 0.0 0.0 100.0|  21,261.7|7 &2 7 7 /L ML
20.7 96 ~ 20.8 100 3.22 0. 00 2.15
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X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m
TR R R S T 3.17 1.85 0. 00 0.78 100. 0 0.0 0.0 100.0|  21,361. 7|7 27 7 /L ik
20.8 100 ~ 21.0 2 3. 17 0. 00 1.63
TR RR S T 3.17 1.56 0. 00 0.58 98.0 0.0 2.0 100.0| 21, 461. 7|HEKPEAd:
21.0 2 ~ 21. 1 20 3.18 0. 00 2.55
TR RSR S T 3.15 1.66 0. 00 0. 59 100.0 0.0 0.0 100.0| 21, 561. 7|HEKPEAdL:
21. 1 20 ~ 21.2 29 3.18 0. 00 2. 17
TR RR S T 3.20 1.00 0. 00 0.55 100.0 0.0 0.0 100.0| 21, 661. 7|HEKPEAdL:
21.2 29 ~ 21.3 0 3. 70 0. 00 1.75
TR R R ST 3.18 0.95 0. 00 0.57 80. 0 0.0 0.0 80.0| 21, 741. 7| Pk Mdids
21.3 0~ 21.3 80 3.19 0. 00 1.03
TR RR S T 3.18 0.95 0. 00 0.57 120.0 0.0 0.0 120.0| 21, 861. 7|HEKPEAdL:
21.3 80 ~ 21.4 90 3.19 4. 00 1.03
TR R R S T 3.25 1.50 0. 00 0.75 100.0 0.0 0.0 100.0| 21, 961. 7|HEKPEAdL:
21.4 90 ~ 21.5 90 3.25 1. 90 1.25
& [ B JEs Tl 3.25 1. 50 0. 00 0.75 95.0 0.0 5.0 100. 0| 22, 061. 7|HEKPEAH%E
21.5 90 ~ 21.6 89 3.25 1.90 1.25
& [ B JBs i 3.25 2.80 0. 00 0.25 130.0 0.0 0.0 130.0| 22,191. 7|7 A7 7 /L sk
21.6 89 ~ 21.8 27 3.25 0. 00 1.25
& [ B JBs i 3.25 1.85 0. 00 0. 45 67. 4 0.0 2.6 70.0| 22,261. 7|7 A7 7 b bl
21.8 27 ~ 21.9 0 3.25 0. 00 1.55
& [ B JEs i 3.25 2. 60 0. 00 0. 55 100. 0 0.0 0.0 100.0|  22,361.7|7 &7 7 /L ML
21.9 0 ~ 22.0 3 3.30 0. 00 2.12
& [ B JBs Tl 3.30 3.13 0. 00 0. 50 100. 0 0.0 0.0 100.0|  22,461.7|7 &2 7 7 /L ML
22.0 3 ~ 22. 1 3 3.30 0. 00 2.55
& [ B JEs Tl 3.20 5. 06 0. 00 0. 59 100. 0 0.0 0.0 100.0|  22,561.7|7 & 7 7 /L ML
22. 1 3 ~ 22.2 0 3.25 0. 00 1. 84
& [ B S5 Tl 4.25 4. 38 0. 00 0. 45 100. 0 0.0 0.0 100. 0 22, 661. 7|HEAKMESE
22.2 0 ~ 22.2 100 3.25 1. 66 0.50
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X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m

TR R R S T 3. 10 2.58 0. 00 0.92 100.0 0.0 0.0 100.0| 22, 761. 7|HEK ML
22.2 100 ~ 22.3 99 3.25 1.13 0. 68

TR RR S T 3.25 1.85 0. 00 0.45 100.0 0.0 0.0 100.0| 22, 861. 7|HEKPEAdL:
22.3 99 ~ 22.4 90 3.25 2.01 0.55

TR RSR S T 3.25 1.84 0. 00 0. 50 100.0 0.0 0.0 100.0| 22,961, 7|HEKPEAdL:
22.4 90 ~ 22.5 84 3.25 1.98 0. 50

TR RR S T 3.25 1.84 0. 00 0. 50 100.0 0.0 0.0 100.0| 23, 061. 7|HEKPEAd A
22.5 84 ~ 22.7 4 3.25 1.98 0. 50

TR R R ST 3.25 0. 65 0. 00 0. 50 100.0 0.0 0.0 100.0| 23, 161. 7|HEKPEAdAE
22.7 4 ~ 22.8 2 3.30 3.63 0. 50

TR RR S T 3. 60 1.80 0. 00 0. 50 100.0 0.0 0.0 100.0| 23, 261. 7|HEK ML
22.8 2 ~ 22.9 8 4. 00 1.49 0. 62

TR R R S T 3.25 1.90 0. 00 0.52 100.0 0.0 0.0 100.0| 23, 361. 7|k ML
22.9 8 ~ 22.9 108 3.20 1.98 0.56

& [ B JEs Tl 3.75 1.93 0. 00 0. 50 100. 0 0.0 0.0 100. 0| 23, 461. 7| ek PHEAH%E
22.9 108 ~ 23.0 90 3.30 1.51 0. 47

& [ B JBs i 3.25 2.98 0. 00 0. 65 100. 0 0.0 0.0 100. 0| 23, 561. 7|HEKPEAH%E
23.0 90 ~ 23.1 89 3.29 3.34 0. 60

& [ B JBs i 3.25 2.85 0. 00 0.70 97.0 0.0 3.0 100. 0 23, 661. 7[HEAKMES
23.1 89 ~ 23.2 98 3.05 0. 87 0.25

& [ B JEs i 3.10 0. 00 0. 00 0. 79 100. 0 0.0 0.0 100. 0 23, 761. 7|HEAKMEA2E
23.2 98 ~ 23.3 98 3.10 1. 20 0.37

& [ B JBs Tl 3.10 0. 00 0. 00 0. 77 100. 0 0.0 0.0 100. 0 23, 861. 7|HEAKMER2E
23.3 98 ~ 23.4 91 3.10 1.19 0.35

& [ B JEs Tl 3.05 0. 00 0. 00 1.55 100. 0 0.0 0.0 100. 0 23, 961. 7[HEAKMESHE
23.4 91 ~ 23.5 75 3.10 2. 00 0.35

& [ B S5 Tl 3.25 2. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0 24, 061. 7[HEAKMES2E
23.5 75 ~ 23.6 17 3.25 1. 80 0.75
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g = HE £
X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m
TR R R S T 3.25 2. 00 0. 00 1.25 100.0 0.0 0.0 100.0| 24, 161. 7|HEK ML
23.6 17 ~ 23.7 75 3.25 1. 80 0.75
TR RR S T 3.25 2. 00 0. 00 1.75 100.0 0.0 0.0 100.0| 24, 261. 7|HEK ML
23.7 15 ~ 23.7 175 3.25 0. 50 1. 80
TR RSR S T 3.25 2. 00 0. 00 0. 50 134.0 0.0 0.0 134.0| 24, 395. 7|HEK ML
23.7 175 ~ 24.0 9 3.25 1. 40 1. 40
TR RR S T 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 24, 495. 7|HEK PEAd A
24.0 9 ~ 24.0 109 3.25 0. 00 1.25
TR R R ST 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 24, 595. 7|HEK P
24.0 109 ~ 24. 1 94 3.25 0. 00 1.25
TR RR S T 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 24, 695. 7|HEK PEAdA:
24. 1 94 ~ 24.2 94 3.25 0. 00 1.25
TR R R S T 3.25 2. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 24, 795. 7|HEK PEAd A
24.2 94 ~ 24.3 100 3.25 0. 00 1.25
& [ B JEs Tl 3.23 2.02 0. 00 0. 44 100. 0 0.0 0.0 100. 0| 24, 895. 7|HE/KPEAH%E
24.3 100 ~ 24.5 8 3.28 0. 00 0.93
& [ B JBs i 3.24 2.43 0. 00 0. 46 100. 0 0.0 0.0 100. 0| 24, 995. 7|HE/KPEAH%E
24.5 8 ~ 24.6 9 3.31 0. 00 1. 26
& [ B JBs i 3.25 2. 00 0. 00 0. 50 97.8 0.0 2.2 100. 0 25, 095. 7[HEAK LA
24.6 9 ~ 24.6 91 3.25 0. 00 0.75
& [ B JEs i 3.25 0.80 0. 00 1.75 76. 1 0.0 23.9 100. 0 25, 195. 7[HEAKMEA2E
24.6 91 ~ 24.7 90 3.25 0. 00 0.75
& [ B JBs Tl 3.25 1.25 0. 00 0. 50 96. 6 0.0 3.4 100.0|  25,295. 7|7 & 7 7 /L %L
24.7 90 ~ 24.8 91 3.25 0. 00 0.75
& [ B JEs Tl 3.25 1.25 0. 00 0. 50 100. 0 0.0 0.0 100.0|  25,395.7|7 & 7 7 /L hafiLE
24.8 91 ~ 24.9 97 3.25 0. 00 0.75
& [ B S5 Tl 3. 04 1.03 0. 00 0.23 100. 0 0.0 0.0 100.0|  25,495. 7|7 & 7 7 /L ML
24.9 97 ~ 25.0 90 3.37 0. 00 0. 88
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X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m
TR R R S T 3.16 1.20 0. 00 0.31 100. 0 0.0 0.0 100.0| 25,595 7|7 27 7 /L ik
25.0 90 ~ 25.1 80 3.39 0. 00 0.97
TR RR S T 2.97 0. 00 0. 00 1.25 39.7 0.0 2.3 42.0|  25,637. 7|7 27 7 /b MLk
25.1 80 ~ 25.2 22 3.37 0. 00 0.94
TR RSR S T 3.25 2. 00 0. 00 0.85 -2.0 0.0 45.0 43.0|  25,680.7|7 X7 7 /L Lk
25.2 22 ~ 25.2 65 3.25 0. 00 0.85
TR RR S T 3.26 3.39 0. 00 0.32 115.0 0.0 0.0 115.0| 25, 795. 7|HEK PEAdA:
25.2 65 ~ 25.3 101 3.25 2.21 0. 60
TR R R ST 3.26 0. 00 0. 00 2.54 100.0 0.0 0.0 100.0| 25, 895. 7|HEsK PEAA:
25.3 101 ~ 25.4 83 3.27 2.21 0. 60
TR RR S T 3.24 0. 00 0. 00 0. 66 100.0 0.0 0.0 100.0| 25, 995. 7|HEK PEAd:
25.4 83 ~ 25.5 85 3.25 2.06 0.77
TR R R S T 3.28 0. 00 0. 00 1.08 100.0 0.0 0.0 100.0| 26, 095. 7|HEK PEAfAE
25.5 85 ~ 25.6 86 3.27 1. 46 0.52
& [ B JEs Tl 3.27 0. 00 0. 00 1.12 97.6 0.0 2.4 100.0| 26, 195. 7|HEKPEAH%E
25.6 86 ~ 25.7 85 3.26 1. 49 0. 54
& [ B JBs i 3.26 0. 00 0. 00 0.81 100. 0 0.0 0.0 100.0| 26, 295. 7|HEKPEAH%E
25.7 85 ~ 25.8 91 3.29 1. 49 0. 65
& [ B JBs i 3.29 0. 00 0. 00 1.81 100. 0 0.0 0.0 100. 0 26, 395. 7[HEAK LA
25.8 91 ~ 25.9 85 3.27 1. 49 0. 48
& [ B JEs i 3.29 0. 00 0. 00 1.21 100. 0 0.0 0.0 100. 0 26, 495. 7|HEAKMEA2E
25.9 85 ~ 26.0 92 3.27 1. 49 0. 48
& [ B JBs Tl 3.27 0. 00 0. 00 1.57 100. 0 0.0 0.0 100. 0 26, 595. 7[HEAKMEA2E
26.0 92 ~ 26. 1 86 3.25 1.55 0. 61
& [ B JEs Tl 3.27 0. 00 0. 00 1.82 97.7 0.0 2.3 100. 0 26, 695. 7[HEAKMEA 2
26. 1 86 ~ 26.2 99 3.25 1.53 0.49
& [ B S5 Tl 3.29 0. 00 0. 00 1.63 100. 0 0.0 0.0 100. 0 26, 795. 7[HEAK LA
26.2 99 ~ 26.3 88 3.26 2.50 0.50
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X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m
TR R R S T 3.27 0. 00 0. 00 3. 60 100.0 0.0 0.0 100.0| 26, 895. 7|HEsK PEA:
26.3 88 ~ 26.4 95 3.25 3.93 0.59
TR RR S T 3.25 0. 00 0. 00 2.03 100.0 0.0 0.0 100.0| 26, 995. 7|HEK PEAf:
26.4 95 ~ 26.5 95 3.27 2.42 0.52
TR RSR S T 3.24 1.61 0. 00 0.49 98.0 0.0 2.0 100.0| 27, 095. 7|HEK Mg
26.5 95 ~ 26.6 81 3.25 2.17 0.55
TR RR S T 3.26 1.59 0. 00 0.54 100.0 0.0 0.0 100.0| 27, 195. 7|HEK Mg
26.6 81 ~ 26.7 80 3.23 2.18 0.49
TR R R ST 3.24 2.30 0. 00 0.51 60. 0 0.0 0.0 60.0| 27, 255. 7| ek Maids
26.7 80 ~ 26.8 37 3.24 1.23 0. 50
TR RR S T 3.24 2.28 0. 00 2.47 140.0 0.0 0.0 140.0| 27, 395. 7|HEK Mg
26.8 37 ~ 26.9 88 3.84 2. 62 0. 60
TR R R S T 3.19 2.96 0. 00 2.23 100.0 0.0 0.0 100.0| 27, 495. 7|HEK PEAdAE
26.9 88 ~ 27.0 78 4.07 2. 62 0. 61
& [ B JEs Tl 3.60 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0| 27, 595. 7|HE/KPEAH%E
27.0 78 ~ 27.2 0 3.63 0. 00 1. 68
& [ B JBs i 3.63 0. 00 0. 00 0.92 100. 0 0.0 0.0 100.0| 27, 695. 7|HEKPEAH%E
27.2 0 ~ 27.2 100 3.56 0. 00 0. 40
& [ B JBs i 3.27 0. 00 0. 00 1.72 100. 0 0.0 0.0 100. 0 27, 795. 7|HEAK LA 2L
27.2 100 ~ 27. 4 3 3. 46 0. 00 0.74
& [ B JEs i 3.31 0. 00 0. 00 2.39 100. 0 0.0 0.0 100. 0 27, 895. 7|HEAK LA
27. 4 3 ~ 27.4 103 3.45 0. 00 0.55
& [ B JBs Tl 3.33 0. 00 0. 00 1.57 100. 0 0.0 0.0 100.0|  27,995. 7|7 & 7 7 /L L
27.4 103 ~ 27.5 92 3.29 0. 00 2. 67
& [ B JEs Tl 3.24 0. 00 0. 00 0.78 100. 0 0.0 0.0 100.0|  28,095.7|7 % 7 7 /L L
27.5 92 ~ 27.6 94 3.28 0. 00 0.83
& [ B S5 Tl 3.31 0. 00 0. 00 0.42 100. 0 0.0 0.0 100.0|  28,195.7|7 % 7 7 /L L
27.6 94 ~ 27.7 95 3.30 0. 00 0.75

_22_



. Ez E K W F 237731
%R
BE#RA 0 0202 BliE
g = HE £
X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m
TR R R S T 3.30 0. 00 0. 00 0.45 100. 0 0.0 0.0 100.0| 28,295 7|7 27 7 /L ik
27.7 95 ~ 27.8 97 3.27 0. 00 0.57
TR RR S T 3.26 0. 00 0. 00 0.49 100. 0 0.0 0.0 100.0| 28,395 7|7 27 7 /L ik
27.8 97 ~ 27.9 96 3.29 0. 00 1.25
TR RSR S T 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0| 28,495 7|7 A7 7 /L ik
27.9 96 ~ 28.0 72 3.25 0. 00 0.55
TR RR S T 3.25 0. 00 0. 00 0. 60 76. 4 0.0 23.6 100.0| 28,595 7|7 27 7 /L ik
28.0 72 ~ 28. 1 60 3.25 2. 00 0.15
TR R R ST 3.25 0. 00 0. 00 0.70 100.0 0.0 0.0 100.0| 28, 695. 7|HEK PEAdA:
28. 1 60 ~ 28.2 61 3.25 2.00 0.25
TR RR S T 3.25 0. 00 0. 00 0. 50 100.0 0.0 0.0 100.0| 28, 795. 7|HEK PEAdE
28.2 61 ~ 28.3 60 3.25 2.00 0.35
TR R R S T 3.25 0. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 28, 895. 7|HEsK MEAA:
28.3 60 ~ 28.4 10 3.25 2. 00 0. 65
& [ B JEs Tl 3.25 0. 00 0. 00 0. 40 100. 0 0.0 0.0 100. 0| 28, 995. 7|HE/KPEAH%E
28.4 70 ~ 28.4 170 3.25 2. 00 0. 40
& [ B JBs i 3.25 0. 00 0. 00 0. 45 100. 0 0.0 0.0 100. 0| 29, 095. 7|HE/KPEAH%E
28.4 170 ~ 28.6 11 3.25 2. 00 0. 65
& [ B JBs i 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 29, 195. 7[HEAKMEA2E
28.6 11 ~ 28.7 11 3.25 2. 00 0. 48
& [ B JEs i 3.25 0. 00 0. 00 0. 65 100. 0 0.0 0.0 100. 0 29, 295. 7[HEAK LA
28.7 11 ~ 28.8 11 3.25 2. 00 0.45
& [ B JBs Tl 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100. 0 29, 395. 7[HEAK LA
28.8 11 ~ 28.9 11 3.25 2. 00 0.35
& [ B JEs Tl 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100. 0 29, 495. 7[HEAKMEA2E
28.9 11 ~ 29.0 69 3.25 2. 00 1. 40
& [ B S5 Tl 3.25 0. 00 0. 00 0.95 100. 0 0.0 0.0 100. 0 29, 595. 7[HEAKMEA2E
29.0 69 ~ 29. 1 68 3.25 2. 00 0.25
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g = HE £
X (EBe: Eofl, TEBe: T YD m m I NNAE R BT OO FEIH T
OB | A B | oBER | B OB | E OB | b & TE A% G
m

TR R R S T 3.25 0. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 29, 695. 7|HEK PEAf:
29. 1 68 ~ 29.2 69 3.25 1.90 0. 60

TR RR S T 3.25 0. 00 0. 00 1.05 100.0 0.0 0.0 100.0| 29, 795. 7|HEK PEAd:
29.2 69 ~ 29.3 10 3.25 1.90 1. 20

TR RSR S T 3.25 0. 00 0. 00 1. 40 100.0 0.0 0.0 100.0| 29, 895. 7|HEsK PEA:
29.3 70 ~ 29.3 170 3.25 2.70 0.55

TR RR S T 3.25 0. 00 0. 00 1.25 100.0 0.0 0.0 100.0| 29, 995. 7|HEsK PEAA:
29.3 170 ~ 29.5 68 3.25 2.70 0. 60

TR R R ST 3.25 0. 00 0. 00 1.75 100.0 0.0 0.0 100.0| 30, 095. 7|HEsK PEAdA:
29.5 68 ~ 29.6 67 3.25 1.85 0. 50

TR RR S T 3.25 0. 00 0. 00 0. 40 100.0 0.0 0.0 100.0| 30, 195. 7|HEK Mg
29.6 67 ~ 29.7 60 3.25 2.50 0.45

TR R R S T 3.25 0. 00 0. 00 0.30 100.0 0.0 0.0 100.0| 30, 295. 7|HEK PEAfAE
29.7 60 ~ 29.7 160 3.25 2.05 0. 50

& [ B JEs Tl 3.25 0. 00 0. 00 0.30 100. 0 0.0 0.0 100. 0| 30, 395. 7|HE/KPEAH%E
29.7 160 ~ 29.9 65 3.25 2.05 0. 50

& [ B JBs i 3.25 0.15 0. 00 3.25 34.0 0.0 0.0 34.0[ 30, 429. 7[HEAKMEA
29.9 65 ~ 29.9 99 3.25 2.10 0.55

& [ B JBs i 3.25 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 30, 529. 7[HEAK LA
29.9 99 ~ 30.0 100 3.25 2.10 0.55

& [ B JEs i 3.25 0. 00 0. 00 1.85 100. 0 0.0 0.0 100. 0 30, 629. 7[HEAKMEA2E
30.0 100 ~ 30.0 200 3.25 2.30 0.55

& [ B JBs Tl 3.25 4.30 0. 00 0. 45 100. 0 0.0 0.0 100. 0 30, 729. 7|HEAK LA
30.0 200 ~ 30.2 96 3.25 2.30 0.55

& [ B JEs Tl 3.25 2. 10 0. 00 0.55 100. 0 0.0 0.0 100. 0 30, 829. 7[HEAK ML
30.2 96 ~ 30. 4 10 3.25 2. 70 0.45

& [ B S5 Tl 3.25 4. 60 0. 00 1.35 100. 0 0.0 0.0 100. 0 30, 929. 7[HEAKMEA2E
30. 4 10 ~ 30.5 9 3.25 2. 60 0.55
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TR R R S T 3.25 4. 00 0. 00 1.35 9.0 0.0 0.0 9.0 30,938 7|HEKMEEHLE
30.5 9 ~ 30.5 18 3.25 2. 60 0.55

TR RR S T 3.25 2. 00 0. 00 0.51 -62.0 0.0 162.0 100.0|  31,038. 7|7 27 7 /L ik
30.5 18 ~ 30.6 8 3.25 2. 60 0.52

TR RSR S T 3.25 0. 00 0. 00 0. 50 70.0 0.0 0.0 70.0|  31,108. 7|7 27 7 /b Mk
30.6 8 ~ 30.6 78 3.25 2. 00 0. 50

TR RR S T 3.25 2. 40 0. 00 0.45 31.0 0.0 0.0 31.0|  31,139.7|7 27 7 /L sk
30.6 78 ~ 30.7 10 3.25 2. 40 0.45

TR R R ST 3.25 4.30 0. 00 0. 05 100. 0 0.0 0.0 100.0|  31,239. 7|7 27 7 /L Lk
30.7 10 ~ 30.8 7 3.25 2.50 0.45

TR RR S T 3.25 0. 80 0. 00 0. 65 100. 0 0.0 0.0 100.0|  31,339. 7|7 27 7 /L Lk
30.8 7~ 30.9 9 3.25 2.30 0. 50

TR R R S T 3.25 0. 60 0. 00 0. 80 100. 0 0.0 0.0 100.0|  31,439. 7|7 27 7 /L ik
30.9 9 ~ 31.0 13 3.25 0. 50 0. 50

& [ B JEs Tl 3.25 0. 60 0. 00 0.45 100. 0 0.0 0.0 100.0|  31,539. 7|7 27 7 /L sk
31.0 13 ~ 31.1 21 3.25 0. 50 0.25

& [ B JBs i 3.25 0. 60 0. 00 1.10 100. 0 0.0 0.0 100.0|  31,639. 7|7 27 7 /L Lk
31.1 21 ~ 31.2 11 3.25 1. 80 0.20

& [ B JBs i 3.25 0. 60 0. 00 1.15 100. 0 0.0 0.0 100.0|  31,739.7|7 &7 7 /L ML
31.2 11 ~ 31.3 4 3.25 1.70 0.25

& [ B JEs i 3.25 0. 00 0. 00 0. 65 100. 0 0.0 0.0 100.0|  31,839.7|7 % 7 7 /L ML
31.3 4 ~ 31.4 3 3.25 0. 00 0.35

& [ B JBs Tl 3.25 0. 00 0. 00 0.45 100. 0 0.0 0.0 100.0|  31,939.7|7 % 7 7 /L ML
31.4 3 ~ 31.5 11 3.25 0. 00 0.55

& [ B JEs Tl 3.25 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  32,039.7|7 % 7 7 /L ML
31.5 11 ~ 31.6 6 3.25 1. 50 0.50

& [ B S5 Tl 3.25 0. 00 0. 00 1.30 112.0 0.0 8.0 120.0|  32,159. 7|7 %2 7 7 /L ML
31.6 6 ~ 31.7 33 3.25 1. 50 1. 20
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TR R R S T 3.25 0. 00 0. 00 0. 65 80.0 0.0 0.0 80.0| 32,239.7|7 X7 7L Lk
31.7 33 ~ 31.8 15 3.25 1. 60 0.25

TR RR S T 3.25 0. 00 0. 00 1.05 100. 0 0.0 0.0 100.0|  32,339. 7|7 27 7L Lk
31.8 15 ~ 31.9 15 3.25 1. 60 0.25

TR RSR S T 3.25 2. 00 0. 00 0.85 100. 0 0.0 0.0 100.0|  32,439. 7|7 27 7 /L Lk
31.9 15 ~ 32.0 15 3.25 1. 60 0.25

TR RR S T 3.25 0. 00 0. 00 1.35 100. 0 0.0 0.0 100.0|  32,539. 7|7 27 7 /L Lk
32.0 15 ~ 32.1 15 3.25 2. 80 0.25

TR R R ST 3.25 0. 00 0. 00 0.55 100. 0 0.0 0.0 100.0|  32,639. 7|7 27 7 /L Lk
32.1 15 ~ 32.2 9 3.25 1. 40 0.55

TR RR S T 3.25 2. 60 0. 00 0.25 100. 0 0.0 0.0 100.0|  32,739. 7|7 A7 7L ik
32.2 9 ~ 32.3 5 3.25 0. 00 0. 65

TR R R S T 3.25 1.50 0. 00 0.25 94. 6 0.0 5.4 100.0|  32,839. 7|7 A7 7L Lk
32.3 5 ~ 32.4 11 3.25 0. 00 0.55

& [ B JEs Tl 3.25 1.50 0. 00 0.25 100. 0 0.0 0.0 100.0|  32,939. 7|7 27 7L Lk
32.4 11 ~ 32.5 9 3.25 0. 00 1.25

& [ B JBs i 3.25 1. 40 0. 00 0.25 100. 0 0.0 0.0 100.0|  33,039. 7|7 27 7 /L sk
32.5 9 ~ 32.6 11 3.25 0. 00 0. 40

& [ B JBs i 3.25 2. 00 0. 00 0. 95 100. 0 0.0 0.0 100.0|  33,139.7|7 &2 7 7 /L ML
32.6 11 ~ 32.7 7 3.25 0. 00 0.75

& [ B JEs i 3.25 1. 40 0. 00 1.55 100. 0 0.0 0.0 100.0|  33,239.7|7 &2 7 7 /L ML
32.7 7~ 32.8 6 3.25 0. 00 1.25

& [ B JBs Tl 3.25 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  33,339.7|7 %7 7 /L ML
32.8 6 ~ 32.9 5 3.25 0. 00 0.45

& [ B JEs Tl 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100.0|  33,439.7|7 % 7 7 /L ML
32.9 5 ~ 33.0 10 3.25 0. 00 0.15

& [ B S5 Tl 3.25 2.20 0. 00 0.35 100. 0 0.0 0.0 100.0|  33,539.7|7 % 7 7 /L ML
33.0 10 ~ 33.1 12 3.25 0. 00 0.85
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TR R R S T 3.25 2.20 0. 00 0.35 100. 0 0.0 0.0 100.0|  33,639. 7|7 27 7 /L Lk
33.1 12 ~ 33.2 7 3.25 0. 00 0. 65

TR RR S T 3.25 0. 00 0. 00 0. 40 100. 0 0.0 0.0 100.0|  33,739. 7|7 27 7L Lk
33.2 7~ 33.3 8 3.25 0. 00 0.55

TR RSR S T 3.25 0. 00 0. 00 0.30 100. 0 0.0 0.0 100.0|  33,839. 7|7 27 7 /L ik
33.3 8 ~ 33.4 9 3.25 0. 00 0.55

TR RR S T 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100.0|  33,939. 7|7 27 7 /L Lk
33.4 9 ~ 33.4 100 3.25 0. 00 1.35

TR R R ST 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100.0|  34,039. 7|7 27 7 /L ik
33.4 100 ~ 33.6 7 3.25 0. 00 0.30

TR RR S T 3.25 0. 00 0. 00 0.85 100. 0 0.0 0.0 100.0|  34,139. 7|7 27 7 /L ik
33.6 7~ 33.7 12 3.25 0. 00 0. 65

TR R R S T 3.25 0. 00 0. 00 1.95 100. 0 0.0 0.0 100.0|  34,239. 7|7 27 7 /L sk
33.7 12 ~ 33.8 13 3.25 0. 00 1.15

& [ B JEs Tl 3.25 0. 00 0. 00 2.25 100. 0 0.0 0.0 100.0|  34,339. 7|7 27 7 /L Lk
33.8 13 ~ 33.9 14 3.25 0. 00 2.35

& [ B JBs i 3.25 0. 00 0. 00 2.25 16. 0 0.0 0.0 16.0| 34,355. 7|7 27 7 /v Ml
33.9 14 ~ 33.9 32 3.25 0. 00 2.35

& [ B JBs i 3.25 0. 00 0. 00 0. 50 -2.0 0.0 25.0 23.0|  34,378.7|7 A7 7L ML
33.9 32 ~ 33.9 55 3.25 2. 00 0. 50

& [ B JEs i 3.25 0. 00 0. 00 1.55 60. 0 0.0 0.0 60.0[ 34, 438. 7|HEAKMEAE
33.9 55 ~ 33.9 115 3.25 1. 50 0.45

& [ B JBs Tl 3.25 0. 00 0. 00 0.25 100. 0 0.0 0.0 100. 0 34, 538. 7[HEAK LA
33.9 115 ~ 34.1 10 3.25 1. 40 0.20

& [ B JEs Tl 3.25 1. 80 0. 00 0. 50 100. 0 0.0 0.0 100. 0 34, 638. 7[HEAKMERE
34.1 10 ~ 34.2 7 3.25 1. 60 2. 00

& [ B S5 Tl 3.25 1. 80 0. 00 0.25 100. 0 0.0 0.0 100. 0 34, 738. 7|HEAK LA
34.2 7~ 34.3 9 3.25 4. 00 0.75
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TR R R S T 3.25 2. 00 0. 00 0. 60 100.0 0.0 0.0 100.0| 34, 838. 7|HEsK PEAdA:
34.3 9 ~ 34.4 10 3.25 4. 00 0. 65

TR RR S T 3.15 2.30 0. 00 0. 65 100.0 0.0 0.0 100.0| 34, 938. 7|HEK PEAdA:
34.4 10 ~ 34.4 110 3.00 0.90 0.30

TR RSR S T 3. 10 2.20 0. 00 0.70 100.0 0.0 0.0 100.0| 35, 038. 7|HEsK Mg
34.4 110 ~ 34.6 9 3.00 2.25 0.15

TR RR S T 3. 00 0. 00 0. 00 1.00 100.0 0.0 0.0 100.0| 35, 138. 7|HEK PEAfA:
34.6 9 ~ 34.6 100 3.00 0.90 0.45

TR R R ST 3. 00 0. 00 0. 00 1.25 100.0 0.0 0.0 100.0| 35, 238. 7|HEK PEAdA:
34.6 100 ~ 34.7 74 3.00 0. 00 0. 50

TR RR S T 3. 00 0. 00 0. 00 1.25 100.0 0.0 0.0 100.0| 35, 338. 7|HEK PEAdAE
34.7 14 ~ 34.8 73 3.00 0. 00 0.52

TR R R S T 3. 00 0. 00 0. 00 2.25 100.0 0.0 0.0 100.0| 35, 438. 7|HEK PEAdAE
34.8 73 ~ 34.9 74 3.00 0. 00 1. 00

& [ B JEs Tl 3. 00 0. 00 0. 00 0.75 76. 6 0.0 23. 4 100.0|  35,538. 7|7 27 7 /L Lk
34.9 14 ~ 35.0 100 3.00 0. 00 0.95

& [ B JBs i 3.00 0. 00 0. 00 1.75 100. 0 0.0 0.0 100. 0| 35, 638. 7|HE/KPHEAH%E
35.0 100 ~ 35.1 100 3.00 0. 00 0.75

& [ B JBs i 3.00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0 35, 738. 7|HEAK LA 2L
35.1 100 ~ 35.2 98 3.00 0. 00 1.25

& [ B JEs i 3.00 1. 80 0. 00 0. 40 100. 0 0.0 0.0 100. 0 35, 838. 7[HEAK LA
35.2 98 ~ 35.3 100 3.00 0. 00 1.25

& [ B JBs Tl 3.00 1. 80 0. 00 0.52 100. 0 0.0 0.0 100. 0 35, 938. 7[HEAKMEAH2E
35.3 100 ~ 35.4 100 3.00 0. 00 1. 30

& [ B JEs Tl 3.00 1. 80 0. 00 0. 65 100. 0 0.0 0.0 100. 0 36, 038. 7[HEAK LA
35.4 100 ~ 35.5 100 3.00 0. 00 1.25

& [ B S5 Tl 3.00 2. 50 0. 00 0.75 100. 0 0.0 0.0 100. 0 36, 138. 7[HEAK LA
35.5 100 ~ 35.6 100 3.00 0. 00 0.75
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TR R R S T 3. 00 1.80 0. 00 0.55 100.0 0.0 0.0 100.0| 36, 238. 7|HEK PEAd
35.6 100 ~ 35.7 100 3.00 0. 00 0. 50

TR RR S T 3. 00 1.80 0. 00 0.75 100.0 0.0 0.0 100.0| 36, 338. 7|HEK Mg
35.7 100 ~ 35.9 0 3.00 0. 00 0.75

TR RSR S T 3. 00 1.80 0. 00 0.45 100.0 0.0 0.0 100.0| 36, 438. 7|HEK PEAd A
35.9 0 ~ 36.0 0 3.00 0. 00 0.70

TR RR S T 3. 00 1.80 0. 00 0. 40 100.0 0.0 0.0 100.0| 36, 538. 7|HEK PEAdA:
36.0 0 ~ 36. 1 0 3.00 0. 00 1.25

TR R R ST 3. 00 1.80 0. 00 0.95 96. 0 0.0 0.0 96.0| 36, 634. 7| ek MAfidE
36. 1 0 ~ 36. 2 0 3.00 0. 00 1.15

TR RR S T 3. 00 2. 00 0. 00 0.75 100.0 0.0 0.0 100.0| 36, 734. 7|HEK PEAd A
36. 2 0 ~ 36.3 0 3.00 0. 00 1. 60

TR R R S T 3. 00 2. 00 0. 00 1.15 100.0 0.0 0.0 100.0| 36, 834. 7|HEK Mg
36.3 0 ~ 36. 4 0 3.00 0. 00 0.75

& [ B JEs Tl 3.00 0. 00 0. 00 1.15 32.0 0.0 0.0 32.0[ 36, 866. 7|HEAKMEAE
36. 4 0 ~ 36.4 32 3.00 0. 00 0.75

& [ B JBs i 3.00 0. 00 0. 00 1.15 -0.3 0.0 4.3 4.0| 36, 870. 7|HE/KPEAH%E
36.4 32 ~ 36.4 36 3.00 0. 00 0.75

& [ B JBs i 3.00 0. 00 0. 00 1.15 68. 0 0.0 0.0 68.0[ 36, 938. 7[HEAKMEAE
36.4 36 ~ 36.5 0 3.00 0. 00 0.75

& [ B JEs i 3.00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100. 0 37, 038. 7[HEAK LA
36.5 0 ~ 36.6 0 3.00 0. 00 0.30

& [ B JBs Tl 3.00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100. 0 37, 138. 7[HEAK LA
36.6 0 ~ 36.6 98 3.00 1. 40 0. 40

& [ B JEs Tl 3.00 0. 00 0. 00 0. 40 92. 4 0.0 7.6 100. 0 37, 238. 7[HEAK LA
36.6 98 ~ 36.7 100 3.00 2. 00 0. 40

& [ B S5 Tl 3.00 0. 00 0. 00 0. 65 100. 0 0.0 0.0 100. 0 37, 338. 7[HEAK LA
36.7 100 ~ 36.8 100 3.00 2. 00 0.30
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TR R R S T 3. 00 1.50 0. 00 1.25 85.8 0.0 14.2 100.0| 37, 438. 7|HEK ML
36.8 100 ~ 36.9 98 3.00 1. 50 0.75

TR RR S T 3. 00 1.80 0. 00 1. 40 95.0 0.0 5.0 100.0| 37, 538. 7|HEK PEAdA:
36.9 98 ~ 37.0 89 3.00 1. 80 0.30

TR RSR S T 3. 00 0. 00 0. 00 1. 40 100. 0 0.0 0.0 100.0|  37,638. 7|7 27 7 /L ik
37.0 89 ~ 37.1 88 3.00 0. 80 0.30

TR RR S T 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  37,738. 7|7 A7 7 )L Lk
37.1 88 ~ 37.2 90 3.00 1.00 0.25

TR R R ST 3. 00 0. 00 0. 00 0.25 100. 0 0.0 0.0 100.0| 37,838. 7|7 27 7 /L ik
37.2 90 ~ 37.3 88 3.00 1. 20 0.25

TR RR S T 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  37,938. 7|7 27 7 /L ik
37.3 88 ~ 37.4 90 3.00 1. 00 0. 50

TR R R S T 3. 00 0. 00 0. 00 2.10 100. 0 0.0 0.0 100.0|  38,038. 7|7 27 7 /L ik
37.4 90 ~ 37.5 81 3.00 2. 00 0. 65

& [ B JEs Tl 3. 00 0. 00 0. 00 1.02 100. 0 0.0 0.0 100.0|  38,138. 7|7 27 7 /L sk
37.5 81 ~ 37.6 89 3.00 0. 00 0.63

& [ B JBs i 3. 00 0. 00 0. 00 1. 90 96. 5 0.0 3.5 100.0|  38,238. 7|7 A7 7 /L Lk
37.6 89 ~ 37.7 90 3.00 0. 00 0. 50

& [ B JBs i 3. 00 0. 00 0. 00 2.22 100. 0 0.0 0.0 100.0|  38,338.7|7 %7 7 /L L
37.7 90 ~ 37.9 9 3.00 0. 00 0. 40

& [ B JEs i 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  38,438.7|7 & 7 7 /L L
37.9 9 ~ 37.9 109 3.00 0. 00 0. 50

& [ B JBs Tl 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  38,538.7|7 % 7 7 /L L
37.9 109 ~ 38.0 77 3.00 0. 00 0.38

& [ B JEs Tl 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  38,638.7|7 % 7 7 /L ML
38.0 77 ~ 38. 1 75 3.00 0. 00 1. 50

& [ B S5 Tl 3. 00 0. 00 0. 00 0. 40 100. 0 0.0 0.0 100.0|  38,738.7|7 % 7 7 /L Lk
38. 1 75 ~ 38.2 77 3.00 0. 00 1. 80
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TR R R S T 3. 00 0. 00 0. 00 0. 50 100. 0 0.0 0.0 100.0|  38,838.7|7 27 7 /L ik
38.2 17 ~ 38.3 90 3.00 0. 00 0.48

TR RR S T 3. 00 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0|  38,938. 7|7 27 7 /L ik
38.3 90 ~ 38.5 1 3.00 0. 00 0. 65

TR RSR S T 3. 00 0. 00 0. 00 0.70 100. 0 0.0 0.0 100.0|  39,038. 7|7 27 7 /L ik
38.5 1~ 38.6 1 3.00 0. 00 0. 65

TR RR S T 3. 00 0. 00 0. 00 1.25 100. 0 0.0 0.0 100.0|  39,138. 7|7 A7 7 /L ik
38.6 1~ 38.6 101 3.00 0. 00 0. 40

TR R R ST 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  39,238. 7|7 27 7 /L Lk
38.6 101 ~ 38.7 73 3.00 0. 00 1.75

TR RR S T 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  39,338.7|7 27 7 /L Lk
38.7 13 ~ 38.8 72 3.00 0. 00 0. 65

TR R R S T 3. 00 0. 00 0. 00 0.95 100. 0 0.0 0.0 100.0|  39,438. 7|7 27 7 /L Lk
38.8 72 ~ 38.9 75 3.00 0. 00 0. 65

& [ B JEs Tl 3. 00 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0|  39,538. 7|7 27 7 /L sk
38.9 75 ~ 39.0 75 3.00 0. 00 0. 50

& [ B JBs i 3. 00 0. 00 0. 00 1.25 96. 5 0.0 3.5 100.0|  39,638. 7|7 27 7 /L Lk
39.0 75 ~ 39.1 73 3.00 0. 00 0.55

& [ B JBs i 3. 00 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0| 39, 738.7|7 & 7 7 /L L
39. 1 73 ~ 39.2 74 3.00 0. 00 0.55

& [ B JEs i 3. 00 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0|  39,838.7|7 % 7 7 /L AL
39.2 74 ~ 39.3 76 3.00 0. 00 0.75

& [ B JBs Tl 3. 00 0. 00 0. 00 0.75 100. 0 0.0 0.0 100.0|  39,938.7|7 % 7 7 /L L
39.3 76 ~ 39.4 16 3.00 0. 00 0.75

& [ B JEs Tl 3. 00 0. 00 0. 00 0. 65 100. 0 0.0 0.0 100.0|  40,038.7|7 & 7 7 /L L
39.4 76 ~ 39.5 17 3.00 0. 00 0. 40

& [ B S5 Tl 3. 00 0. 00 0. 00 0.45 100. 0 0.0 0.0 100.0| 40, 138. 7|7 &2 7 7 /L &L
39.5 17 ~ 39.6 100 3.00 0. 00 1. 10
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TR R R S T 3. 00 0. 00 0. 00 0.80 85.0 0.0 0.0 85.0|  40,223.7|7 X7 7 /L MLk
39.6 100 ~ 39.7 85 3.00 0. 00 0. 40

TR RR S T 3. 00 0. 00 0. 00 1.00 100. 0 0.0 0.0 100.0|  40,323. 7|7 27 7 /L Lk
39.7 85 ~ 39.7 185 3.00 0. 00 0.20

TR RSR S T 3. 00 0. 00 0. 00 1.30 94.5 0.0 5.5 100.0|  40,423. 7|7 27 7 /L ik
39.7 185 ~ 39.9 66 3.00 0. 00 0. 40

TR RR S T 3. 00 0. 00 0. 00 1.65 100. 0 0.0 0.0 100.0|  40,523. 7|7 27 7 /L ik
39.9 66 ~ 40.0 83 3.00 0. 00 0.30

TR R R ST 3. 00 0. 00 0. 00 0. 60 100. 0 0.0 0.0 100.0| 40, 623. 7|7 27 7 /L ik
40.0 83 ~ 40. 1 84 3.00 0. 00 0.20
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